00°03

000

sjuawaspo paseapun

16'S92/L0T3

TO'L6€F

06'898'90TF

16'592°£01

1L'0vv'L0T

08'vLT
doysAdo) piemess 080T S8500€ 8T-3ny
v 00 71T S£S00¢ 8T-{nr
diyssaupied Asenys3 ssweyy 00’0z 89500¢ 8T-Inr
sanbayd paseajaun
8102 1sn3ny 1€ 1e se yse) Ajad pue yooqyse)
2auejeg yse) 00°00¢€ uty ysed Annad ul pjaH
10°L6 ull JUBWO||V Ui pI2H
oueleg 93  SH°009‘9 (6T-810Z w! pied) sjen1ooy 1eah Jold ssa
T19°/1%°9 SjuaWARY SS9
0ozt s1d192ay snjd
96°'V7L8'6TT aouejeq Sujuado xooqyse)
joog yse)
8T0Z Isn3ny 1€ 1€ se saduejeg yueg 39N
000 SIUBWIBpoT paseapun ppy
08'vLT sanbay) paseapun ssa7
8T0zZ 3sn3ny 1€ P13y yse) Anad '3 jueg |endy
00°00¢ uil ysed A13ad ui p|sH
T0'L6 ul] Juaunojy ut p|eH
t0°08¢ JUN02JYy usodaq isnJ] Auun
99°€99'90T /¥'ETI‘ST 1UN02JY Jua.an) jueg 1snJ) Ajun
6709588 81-£T0Z }/ -3/e usodap 01 Jaysues aq o)

yse) A1lad 13 )jueg je asuejeg eas-uo-a3eSisam

81 DNV - NOLLVITIONOD3Y HSVI ANV YNVE T1ONNOD NMOL VIS-NO- ILVDLSIM



